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1- 20% of 600 is / 20% § 600 -1 -1

200 (D) 20 (C) 120 (B) 12 (A)

2- Zakat is deducted at the rate of & O (L AL
5.5% (D) 45% (C) 3.5% (B) 2.5% (A)

3- Profitis eamed, if S te M ¥ -3
SP<CP wisjud <4/ed (B) sP=CH wijuld=sred (A)
none ofthese & (S U &I (D) | SP>0P wsspel>sted (C)

&?JJB;J'JU)’ZQJ;N -4

insurance u”/i"! (A)

4- The person or entity whose insurance is being done, is called the U ﬁ <!

lessee (7 (D) drawer 3 (C) insured 3.8

5. Taxes in the form of duties, motor vehicle taxes are called oy Zf ' (,fg ¥4 S J J*C Jﬁ,}r:x‘g} =5
direct tax J?.'/bgl/. (B) indirect tax u‘ng:’L (A)
income tax J"C(rl (D) property tax Lf?:!,v’b ©)

6 Ina", n'is called ' w nka" 6
radical .4 (D) exponent Ve s (C) radicand .3 (B) base Ul (A)

LS8R T
characteristic b (A)

rational number wJ‘L’t C)

7- The decimal part of the logarithm of a number is called
real part .ﬂc}? (B)
mantissa L& (D)

8- a,0f2,6,18, ......is e wd §a,uh2,6,18,... -8

30 (D) 162 (C) 161 (B) 160 (A)
9- If a,=2n+3 , then ag will be Sned § agina,=2n+3 /9
0 (D) 9(C) 15 (B) 3 (A)

10- If A and B are two sets, then AUB is o AUB juncenBal A 10

BNA (D) ANB (C) o (B) BUA (A)
11- (AUB)' = (AUB)' = _11
¢ (D) A'nB' (C) A°AB (B) ANB (A)

ot Lttt £ plar 212

12- The co-ordinates of origin are

(1,00 (D) (0,1) (C) 1,1 (B) (0,0) (A

13- The perpendicular distance of a point from Y-axis is ¢ lied & Gl b hf e FY K5 o’f 213
row /& (D) perpendicular s (C) abscissa sl by (B) ordinate UG (A)

14- The summary statistics which measures the middie (centre) “. &/ J‘g“ g ,(7}) chrs 7 N3] [}L.Aﬁ sly o’( -14
of the data, is called < L"!Lf
all of these (U7 (D) median ks (C) mode ab (B) ‘mean Ll (A)

15- R=Xm~Xo is the formula of & F U i
" harmonic mean L/’l..frvy (D) variance c-c,é"] ©) mean leL}LJ (B) range = (A)

13-(1)-1°*A 124-45000 g




General Mathematics Paper:1 (U1 &fJFUse (19A124)  Tigyg
Time: 2:10 Hours Group -1 _,,,fu,;

Marks: 60
Note: Section I is compulsory. Solve any THREE (3) questions

from Section 11.

2- Write short answers to any SIX questions:

SUBJECTIVE

u) =LY
SectionI J3lo ﬁ/
_g‘E{;’_-,pz/'"‘L:.my(s) ‘;c,éf -2

(2x6=12)

desr

3 4 - . » 4 4
- if s of the students in a school are on leave. How many fl}l’&“:r' V< 100 9 4 g% 3 gL J;uﬁ‘ J:C..Q/l

students out of hundred are on leave?

ii- If 45% students in a school are girls. Find the
percentage of boys in the school.

ii- Define proportion.
iv- Define Zakat.

v- Aslam left a wealth amounting Rs. 4,00,000. He left
a widow, while he did not have any child. Find the share
of Aslam's widow.

vi- Calculate the Ushr on wheat crop produced by natural
resources amounting Rs. 6,00,000.

vii- What is the difference between profit and loss.
viii- Find SP if CP=Rs. 9,600 Profit=10%

ix- Find marked price when SP=Rs. 858 and discount=12%

3- Write short answers to any SIX questions:

i- Convert 5000 Saudi Riyals to Pakistani Rupees, when

the currency rate is 1 Saudi Riyal = 85 Pk, Rupees
ii- What is meant by excise duty?

iii- The price of a computer'is Rs. 34,800 inclusive of 16%
sales tax. What is the original price of the computer?

(2x6=12)

"t ¢ g%

o D F U Y 45% < Ut P L JE (]
& ey

Al

RN NS

vt 1 S U e 2 U 5y £ 4 24,00,000 & AT
W o oy JH’!-LB;{. & L1 g

£ &9/6,00,000G0 26 i it g < Cbs (s
L2 (e P

S J2 Uty g

10% = &' &1 9600 =4 o 5 2L oo 23 jsrkd

12%= 2o & 2/858 = =53 pnd B b ol
2 fa\izPL 2y (6) icéf -3

LA B & et ugs 3L S Ui 5000
£-3,85= i)

fe oty Ve dys AL

S 16% (U7 e &-3/34,800 =d Ly ]
“4_ LJ/J J’lJ/rf‘c,t'fJV

éd’u:alllr
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& 2:110: =k
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~ii

Vi

~Vii

- viii

~ix

iv- Simplify and give the answer in exponential form 3\/;'—5— {/a'_ éuﬁ' Jﬂf Ve d 7 sl 2’3’/"4 ~iv
v- Simplify and express with positive indices «/a'zb x3\/ab‘3 \/a‘zb x3\/ab_3 20 e b Y g,ﬁ -V
vi- Differeftiate between characteristic and mantissa. ‘é 6 by O Ll oo v
vii- Write first two terms : a8, = S a, = J.’i ~Vii
2n+35 20+5
viii- Find AM between -3 and 7. by Fen LT 81-3 il
ix- Define Geometric mean and write its formula. & sl ol é - /5 J P2, £ -ix
4- Write short answers to any SIX questions: (2x6=12) -é: /)’uu,’/’éuuwe) lc.éf -4
- IfA=(1,4,7,8} , B={3,4,5,7}, C={4,6,8,9}, C={4.6,8,9}, B=(3,4,5,7}, A={1,4,7,8) /I _i
then find (ANB)NC | o (AmB)mc b
e Vi i st by function? e slp e JE i
ii- IfA={1,2,3}, B={x,y,z}, then find AxB and BxA -g{rk’ BxA s AxB xA={1,2,3}, B={x,y,z}fl i
iv- Represent G(0, 7) on the graph. S sonE v

(Z13)




)

v- Write down the co-ordinates of a point lying above

vi- Convert 220°F into C°.

vii- Find AM of the data set 6,2,4,3,4,5,4,5

viii- Find Range of the data 10,18,9,6,22

If X =4000 , 3% =32000, thep find the value of 'n'.
Section I (» -

ix-

a) If the stay of 12 men for 28 days in a hostel costs

if their shares are in the ratio of 3:4:5.

6- (a) The inherited property amounting to Rs 20,00,

is left by a deceased. He left b
two sons. Work out the share of each.

(b) Find the compound profit of Rs 50,000 at 4% for

1L
5 years.

7- (a) Khalid works 6 day-week. Find his gross monthly -

wage, if his rate of pay is Rs 200 per day.
(b) Evaluate using logarithm _8%;_241

8- (a) Find missing element using formula of AP
a=5 , a,=61 n=15

(o) fA={-2,1 4}, then write two binary relations in A,

also write their domains and ranges.

9- (a) Draw the figure with the help of the following points on
the graph paper.
A@4,0), B(0,4),C(-4,0), D(0,-4)
(b) Find the standard deviation for the values
2,3,6,8,11
13-1%A 124-45000
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e Mt e 2

000 Lfl Fun i g pals e
ehind a widow and ~2.§r}y/> g_’g/‘.c‘w%yzo'oo@oo .y*u,JfL
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x-axis and on y-axis at a distance of 4 units. é . y
. 177 "7/7
7 e SO 220°F i
5 e paldL> 66,2,4,3,4,5,4.5 o Loly il
= [ ?

L e §10,18,0,6,22007 il

Lo e d o I ZX=32000 X =4000 Ji _ix

(U.?/ alszpn / 8 Ldb’ﬂ)

27 K288 U 120 Ji S -5

5- (
Rs 6720. Find the cost for the stay of 8 men for L L 14¥ UstsT 8 95 ¢ 16720
14 days in the hostel. W Tps e
(b) Distribute Rs 720 as profit amongst three persons. Lol hE S LS Een720 Ut SE of €
%3:4:5 M

e S D AC O

fd e Woe U A% ¢ 2250000 ()

g e Cu

200 el Se S Fw 8t e (B T

4

R Ay P Sutieyn

?_'_6%%;9& éd’auk{(zj@ (‘r’)

e Bt L LS Jen K A" () -8

a=5 , a,=61 n=15

sl Jass L,(L‘J' /mﬁkﬂu (_,}l'ju U Adn A={=21 ,4}//| (._4)

W TP PRV B ZICORY
A(490)’B(0’4)>C(_450)aD(05_4)

épbfbnﬂ@gu g sly J}Zyu (v)
2.3,6,811
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1-  1- — interms of percentage is

3
- A l
3% (D) 1% (C) 33% (B) 33 -5% (A)
2- Lowest form of 75:95 is i LuTd 75:95 2
17:15 (D) 19:15 (C) 15:19 (B) 15:17 (A)
3- The share of son and daughter in an inherited property is in the ratio wad S O L o:‘ st Jo2ts 3
2:1(D) 1:4(C) 1:8 (B) 2:3(A)
4- Zakat on an amount of Rs 1,00;000 is rupees. N &»‘f J ‘o‘;‘"){ 4;.;/1 ,00,000 -4
25,000 (D) 15,000 (C) 2500 ( 2000 (A)

5- SP=7? where SP>CP Ine sied desped fidk oo asped 5

9 2y g j » 3
(100+Profit%) ., (10042 %%)x0) 2 ®) bot—cp  PANES (A)
100 100
9 2 e d sy : ”
(CP+Loss%) (¢ #d+e ) CP~Loss 4/zd -yl (C)
100 100 / A
6- A machine installed by the bank to dispense cash PRV ST TRt IO
to customers is called - du”
A
card reader .}, 3¢ (D) ATM AIdet () scann ﬁ.‘ (B) computer < (A)
7- The form of a tax which a buyer pays on a manufactured .« 60 P2 e Ladlui Ly B J i o
item at the time of purchase is called -t %‘f el
sales tax J?)o-’ (D) income tax u‘gﬁ (C) ax Jg (B) excise duty Jy3FLEN (A)
8- Ina", 'n’is called - Smytat .8

exoonent Vi (C) radigand .17 (B) radical i (A)
PN 2443 f[laui‘;/jg.,g Jz_:ﬁ 29
ratipnal 240t (B) irrational st (A)
T Adir12,16,21,27,.... 210

base Ul (D)
9- \/2+\/§ is not a radical, because 2+43 is
exponent liz s (D) integer mé‘ (C)

10- Next term of 12,16,21,27, ..... is

34 (D) 33(C) 32 (B) 31 (A)
11- G.M between 1 and 8 is ; -3 b Al £ 811 11
22 (D) +24/2 (C) 242 (B) NORTN

12- AUBUC)=(AUB)UC s called
Associative Law rjw.g,/l; (B)
Intersection of sets % ¥ s (D)
13- IFR,={(1,2),(3,4),(5, 6)}, then range of R, is

{2,4,6}(D) {6}(C)
14-Fory=2in2x=y-6 , x=?
-2 (D) -4(C)

n

Z(I/X) is called
Mode »k (B)
Arithmetic Mean  si(L> (D)

14-()-18tA 124-48000

& i AUBUC)=(AUB)UC _12
Commutative Law Sl (A)
De-morgan's law @96 ¥ le.dj (C)

et R IR={(1,2),(3,4),(5,6)} 1 13

{4}1(® {2} (A
x=0c & y=2 L 2x=y-6 -14
4 (B) 2(A)
n
5 euf H= (/%) -
Harmonic mean  Loifrs} (A)
Mean bl (C)
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Note: Section I is compulsory. Solve any THREE (3) questions
from Section 11.

Section I J3lo

2- Write short answers to any SiX questions:

(2x6=12)

i- Find the value of x in the proport;on 20:50::8:x

i~ Express 7/20 fraction as percentage.

4
- Express B:ZO in its simplest form.

20:50:8:x Lpeddx i

B et edd 720,

g Pt —4—:20 e

S Uy .,u,//,i)nyw S

2 fea Pl 6) gl -2

iv- A person left a property of worth Rs 24,00,000. Calculate ~iv
amount of share of his wife if he had not any child. gur TERR d’fu!/ < ‘ﬂj‘a ¢-2424,00,000
. i ér)"‘..)(. Jﬁ L Sn
v- Calculate the amount of Ushr on a rice crop of weight £ J"Jd;l! rl/;{3000 JJ foe < Jdm g v
3000 Kg produced by artificial resources. If the price of e 43,2000 =i JJW r,/;{m e ufbﬁﬂ
40 Kg rice is Rs 2000 LT ) . )

vi- Calculate Zakat on gold amounting to Rs 11,10,000 -2,{()’” 3;"/)4 U In e;.m 110,000 =/ Ji_rﬁ Vi
vii- Find SP, when CP=Rs 950 , Profit=10% 10%=8 « 42,950 47ul £ 2 prasijed  vi
viii- Find the CP when SP=Rs 851, Loss=8% 8% =gl ¢ £1,851= ehjed B & M ied i

ix- A boy bought a book for Rs 575 and sold it for Rs 320. ¢ 2,320 1) e P Ut &8T5 AL L LI i

What is his loss in percentage?

3- Write short answers to any SIX questions:

(2x6=12)

e LUt w2 ol § Ut edrf b

i- A man borrows Rs 1,00,000 for 3 years at rate of 16% p.a. ¢ <0 16% & £ Ju 3 ¢-2/1,00,000 &7 {1

What is the markup he has to pay?

8t bl S U/c—' ce U el

2 felzBL 2 (6) ;:_él .3

ii- Define income tax. E WSS i
ii- Find the excise duty on an ‘@mount of Rs 3,00,000 atthe 3 7161 = 02§ 150% 4 L .2,3,00,000 il
rate of 150%. g

iv- What is difference between characteristic and mantissa? e GV sl b v
v- Solve log;(x +1)=2 logs(x+D)=2 z£ f v
vi- Prove that  3log2+log5 =log40 3log2+logS=log40d &b -vi
vii- Write first two terms of a,, =3n-5 s=3n-5 & i i
viii- Find the Arithmetic Mean between x~1 and x+7 x=1,x+7 & o pagt Vi
ix- Find G.M between -2 and -8 LG s e L -8 sl -2 <X

4- Write short answers to any SIX questions:

i- If C={1,2}, then write the number of binary relations in CxC.

(2x6=12)

& 5 § it CxC Fs C={1,2) /i

2 fen Lo (6) g0 4

ii- Define compliment of set. 28 il S i
ii- If A={2,3,4,5),B={2,4,6,8}, then find A~B and B-A. A-BJxB={2,4,6,8],A=(2,3,4,5) /1 _ii
_ér}" B-A

iv- Define ordered pair, also give an example.

(ilou)

L Jes S o




8-

v- Convert 20°C into °F.

vi- Define Cartesian Plane.

vii- Define Range and also write its formula for ungrouped data.

viii- Find Median of 5,4,5,4,3,4,2,6
ix- Find Arithmetic Mean for 3,5,6,8,8,9,10

(@)

(b)

(b)

(a)
(b)

-

& ) 2

e e OF f20°C v
«%{J/FJU’PU*ZK -V

A ¥ L Lo oS al s S e i
5,4,5,4,3,4,2,6 125 &b i
3,5,6,8,8,9,10 : 2% o bl Jlo -ix

Section II (% -2

(U_?/." 4 Z::Z/,' J”/‘,} 8 Ldl,»/‘-)

Two angles in a triangle are 54° and 72°. Find the ratio
of third angle to the sum of first two.
The marked price of a ceiling fan is Rs 720. It is sold for

Rs 684. What percentage discount is being allowed.

Calculate Zakat on gold of worth Rs 8,00,000, cash amount
Rs 4,00,000 and silver of weight 50 tola (Rs 5000 per tola).
Find out the compound markup on Rs 2,50,000 for

one year @ 14% compounded annually.

The price of a bicycle is Rs 3500. If 16% sales tax
is charged, then calculate the amount of sales tax on
50 such bicycles.
Solve with the help of logarithmic table :
0.9876x(16.42)°

(4.567)"°

Insert three G.Ms between 1 and 16.
fUu={1,2,3,4,5,6,7,8,9} A= {2,3,6,9} and

gy Ty

B={1,3,6,7,8}, then verify that
(AuB)® = A°AB°

Draw the graph of points A(2,0) , B(7,0) and C(1,8).
Find median and mode of the data 3,5,6,8,8,9,10.

14-15°A 124-48000

Sass e &t T2° 51 54° s 30 £ 2l S (L) 5
c‘:r}”’vr:ulﬂ,v L o, gl & &
S e o720 d b g E Ll eg (D)

/.»,/uﬂJé_c, bl L)/J;/’u"d.s/684
Oufd)u/b’d/\.«)iw"/‘_(

A &3/4,00,000 {5 3 2_5,8,00,000 2t § Ly () -6
2E o 5454 (U9 3 £95000) J750 S
2014% S B3 A Y o 4 £2,50,000 ()
HEpe LU

VP ER S o 213500 =d S FEL L () -7
L e e 28 UK 50 21 T 6%

2 Fe S £ A (D)
4.567)"?

-Z el A olen £ 168 411 () -8
A A={2,3.6,9}U=1{12,3.4,567.89%/ ()
oot InB= (1.3.8.7, 8)
(AuB)’ = A°NE°

_e bt ¥ C(1,8) 451 B(7,0), A@2,0) 46 () -9
el sl s ¥ 3,5,6,8,8,9, 10007 ()



